AIWE 2022-2023 FEF H — AR
NEZYESEER

— HTE (KRB 8 NE, /& 2 4, B2 1 4, 31640

Loy e 20 K40 R 3. WOlR/AMIAE; 4 RS SRR R
b.oH:  FR 5 6. AR AN T EEERN; 0 ; 8.9; 4.5

TLIEREE (AKEIE 6 N8, B 9~12 /M, BMNERE A EFEDS, SN 25 B
13, 14 PMEARETERE, B/NEF NN ERIED, S/0E3 5, SWEHFEHRS
34y, AEBUEHIERBEALA 1 4, Ak, SHSEEES 04, L1450 .

9.B; 10.B ; 11.A ; 12.C ; 13.ACD ; 14.ABC

ZUEE RXEIL 3 ME, B 15 PR T 4y, B 16 BT 4, B 1T ME 8 &, 3

22 41

15. fi#:

(YK #E: @ =c m At =42 X 10%]/(kg - °C) x 2.5kg x 80°C = 8.4 x 10/,
@B K KR Hy10%, BURBEHCH I3 R: @, = 22 = 3999 g4 s 108y,
GYRIEQs = maThn, WHREH: me=_2=2200) —0.28kg,

2 (LYK R 8.4 x 109

@RI, BRI N L10%, BB HO B 98,4 X 1057

(37 825 S HRBEHEN I 5 90,28k g.

16. fi:

(LB KR, RAEGTFRS I, HER AR 1) Rk,

1= ZAT, ARy B

1=%=%§=¢mm

@RHGTFRS Y, Aok )%

P=UI; =220V x 0.54 =110W;

GYFIFF AT, BRI, BB RELED, IR e, P =, MR sk
BOK. g,

SIS

I=1+1; =054+ =554,

A 4K S 22 108 7

Q=W =UIt =220V x 5.54 x 10s =1.21 x 10%/,

e (L) ELR; L4400,

@RHIGTFRS Y, Aok 5% A 110W,

(3 HE T A K S 76 10497 2k 1 M 1,21 x 10%.

#
=
H
N
b=



17. fit: EIWATR, EME PRy S B HRA IR,  H IR oI i ) H 5
(1)@ Rl HL 7 z—i=%=2ﬂ;
(2)EE 2w, %%W%Esﬂﬂ.u X 10°Paltt, FEECHBHRMFHER =104,
Y 5 I P 1) LB s T, FRLBR R S B R = R+ Ro =100 +1004 =1101,
T 5 IB LB 1) PR IR S T, B BRI T = I = 24,
R s 4, iEHE: U=IR =24 x1100 =220V,
W TAE1Omin, FEERVHAEMSHEAE: W= Ult=220Vx 24 x 10 x 605 =2.64 x 10°);
GUE BB . 17 =1, =2 =2 1764,

Bn 1004
o 220V

FRRAR R P i, LR L BB R = — =122 =1250,

WG BLIOPEE: R* =R —Ry=12501— 1002 =252,

B ZRT s, BEE AR N 1SR 0.6 X 10°Pa =6 x 10*Pa.
o (LA, 8 R EN24;

(E}Wﬂ;mﬁmﬁﬁ TAE1Omin, HEEKVHAER) S HAEN2.64 x 10%];

(3pE HIERRECNITOVES, SRR P SR N6 x 104 Pa.

M. LR S5HRAB (AKEE 4 NE, BB 7 4, 3 28 4

18. (1) KRIFHPKABMM R =R,  WPHEENHRE (D a ; 3) 21x10°
D g (5 ThEMRE: RS GERD

19. (1) WA (2 Ky (3 HfFELiRL: WRE: (b6 (5 0.3
(6)  JFFECHLEE, JFE%EEJFL T8 3 R AN

ﬁr/

20. (LOWITF; HRREAZREHER @ £:;0 IE:;& 10; (2)@%T;G 301

21, (D) WFE (2) A 3 &K D AEE; JTLBEEZEREZRR, JaE— e,
(5) HUERIFBAARFLGE MG 75 (6) AMTIKHEIIER,

#
N
=il
H
N
=



